Cate	gory 1: Federal Ammunition			Equipn	iego Police nent Co. ego, CA		(B) Miwall Corporation Grass Valley, CA		Armor LLC oln, NE	(C) Dooley Enterprises , Inc. Anaheim, CA		
Bid Item #	Description	Rounds per Case	Est. Annual # of Cases	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	
1	Federal 5.56mm x 45mm, 55 grain, MCBT M193 Ball Ammunition #XM193AF90	450	33	\$165.94	\$5,476.02	\$0.00	\$0.00	\$166.07	\$5,480.31	\$0.00	\$0.00	
2	Federal HST .40 cal 180 grain HST #P40HST1	1,000	40	\$299.87	\$11,994.80	\$0.00	\$0.00	\$989.00	\$39,560.00	\$0.00	\$0.00	
3	Federal American Eagle .40 cal. 180 grain FMJ #AE40R1	1,000	150	\$245.92	\$36,888.00	\$0.00	\$0.00	\$319.80	\$47,970.00	\$0.00	\$0.00	
4	Federal HST .45 ACP cal 230 grain +PJHP #P45HST1	1,000	15	\$392.21	\$5,883.15	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
5	Federal 2-3/4" 12 guage rifle slug #F-130-RS	1,000	4	\$141.36	\$565.44	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
6	Federal (American Eagle) .45 ACP, 230 grain FMJ #AE45A100	500	30	\$145.10	\$4,353.00	\$0.00	\$0.00	\$181.50	\$5,445.00	\$0.00	\$0.00	
7	Federal (American Eagle) .38 Special, +P, 130 grain, FMJ #AE38K	1,000	2	\$338.70	\$677.40	\$0.00	\$0.00	\$330.00	\$660.00	\$0.00	\$0.00	
8	Federal 12 Guage classic, 2-3/4", 00 buckshot, 12 pellet #F-130-00	250	16	\$125.20	\$2,003.20	\$0.00	\$0.00	\$336.50	\$5,384.00	\$0.00	\$0.00	
9	Federal (American Eagle) .223 Remington 55 grain, FMJBT #AE223AF	900	18	\$335.18	\$6,033.24	\$0.00	\$0.00	\$331.80	\$5,972.40	\$0.00	\$0.00	
10	Federal Tactical Bonded .223 Remington 55 grain, Bonded, SP #LE223T1	200	5	\$231.02	\$1,155.10	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
11	Federal Tactical Tru .223 Remington, 55 grain, Hi Shok SP #T223A	500	10	\$273.14	\$2,731.40	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
12	Speer Gold DOT 38 Special +P 135 grain GDHP-SB #53921	1,000	1	\$394.22	\$394.22	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
13	Speer , Lawman 38 special +P 158 grain TMJFN # 53833	1,000	1	\$281.59	\$281.59	\$0.00	\$0.00	\$508.60	\$508.60	\$0.00	\$0.00	
14	Federal .308 Cal. 165 grain Tactical Bonded #LE308T1	10,000	50	\$292.15	\$14,607.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
15	Speer Gold DOT .223 Remmington 55 grain GDHP #24446	500	4	\$258.77	\$1,035.08	\$0.00	\$0.00	\$285.00	\$1,140.00	\$0.00	\$0.00	
16	Federal Tactical '00' flight control buckshot #LE132 00	250	4	\$131.05	\$524.20	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
17	Federal 9MM, 124 grain, JHP #P9HST1	1,000	1	\$289.95	\$289.95	\$0.00	\$0.00	\$455.40	\$455.40	\$0.00	\$0.00	
18	Federal 9MM, 124 Grain, FMJ #AE9N1	1,000	1	\$219.50	\$219.50	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
19	Federal 12 guage top gun target, 2-3/4" #9 #TGL12	250	4	\$59.65	\$238.60	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
	#FOETE #P9HST2	1,000	20	\$289.95	\$5,799.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
	Federal 9MM, 147 grain, FMJ, #AE9FP	1,000	31	\$194.80	\$6,038.80	\$0.00	\$0.00	\$220.00	\$6,820.00	\$0.00	\$0.00	
	PACE CONTRACTOR OF THE											

Product #
(No "30" at the End)

19-0785 A 1 of 5

22	Federal 9MM, 124 grain, FMJ round nose #AE9AP	1,000	5
23	Federal 9MM, 115 grain, FMJ #AE9DP	1,000	2
	Subtotal		6
	Less 5% LVP		
	Less Terms Discount		
	Evaluation		

\$974.00
\$389.60
\$108,552.79
\$0.00
\$0.00
108,552.79

\$0.00	\$0.00
\$0.00	\$0.00
	\$0.00
0%	\$0.00
0%	\$0.00
	0.00

D 100% OF GORY	NO E	RID
119,718.23		0.00
(\$1,209.28)	0%	\$0.00
\$0.00	0%	\$0.00
\$120,927.51		\$0.00
\$444.80	\$0.00	\$0.00
\$1,087.00	\$0.00	\$0.00

Terms Delivery ARO Net 30 Days 30-180 Days ARO

NO BID

\$217.40 \$222.40

> 0% 1%

Cate	Category 2: Winchester Ammunition			Equipn	ego Police nent Co. ego, CA	(B) Miwall Corporation Grass Valley, CA		(C) RTP Armor LLC Lincoln, NE		(C) Dooley Enterprises , Inc. Anaheim, CA	
	Description	Rounds per Case	Est. Annual # of Cases	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
24	Winchester, Ranger .45 Cal. JHP 230 grain, T-series #RA45T	500	10	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$197.56	\$1,975.60
25	12 gauge AA Trap 1-1/8 oz. load #9 shot # AASC129	250	8	\$0.00	\$0.00	\$0.00	\$0.00	\$91.00	\$728.00	\$77.61	\$620.88
26	12 gauge AA Trap 1-1/8 oz. load #9 shot # AAM129	250	8	\$0.00	\$0.00	\$0.00	\$0.00	\$91.00	\$728.00	\$77.61	\$620.88
27	Winchester 12 guage 00 buckshot, 9 pellet, low recoil #RA1200	250	40	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$118.57	\$4,742.80
28	Winchester 12 guage 00 buckshot, 9 pellet #XB1200	250	40	\$0.00	\$0.00	\$0.00	\$0.00	\$205.00	\$8,200.00	\$125.08	\$5,003.20
29	Winchester 12 Gauge Slug, 1 oz. Low Recoil # RA12RS15	250	32	\$0.00	\$0.00	\$0.00	\$0.00	\$205.00	\$6,560.00	\$134.29	\$4,297.28
30	Winchester 12 Gauge 1 oz. Super-X Slug # X12RS15	250	32	\$0.00	\$0.00	\$0.00	\$0.00	\$215.50	\$6,896.00	\$129.09	\$4,130.88
31	Winchester 12 Guage Black Powder Blanks, Super-X #XBP12	250	4	\$0.00	\$0.00	\$0.00	\$0.00	\$401.50	\$1,606.00	\$197.51	\$790.04
	Subtotal				\$0.00		\$0.00		\$24,718.00		\$20,205.96
	Less 5% LVP			0%	\$0.00	0%	\$0.00	0%	\$0.00	0%	\$0.00
	Less Terms Discount			0%	\$0.00	0%	\$0.00	1%	(\$247.18)	0%	\$0.00
	Evaluation				\$0.00		\$0.00		\$24,470.82		\$20,205.96
	Terms Delivery ARO			NO	BID	NO BID  DID NOT BID 100% CATEGORY 1%, 25 Days 30 Days ARO		GORY 5 Days	Net 30 Days 3-60 Days ARO		

Cate	Category 3: Hornady Ammunition				(A) San Diego Police Equipment Co. San Diego, CA  (B) Miwall Corporation Grass Valley, CA			Armor LLC In, NE	(C) Dooley Enterprises , Inc. Anaheim, CA		,	
	Description	Rounds per Case	Est. Annual # of Cases	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	
32	Hornady .223 Remington, 55 grain TAP #83276	200	60	\$0.00	\$0.00	\$125.00	\$7,500.00	\$185.00	\$11,100.00	\$0.00	\$0.00	
33	Hornady .308 Winchester, 168 grain TAP AMAX #80965	200	50	\$0.00	\$0.00	\$195.00	\$9,750.00	\$235.00	\$11,750.00	\$0.00	\$0.00	
34	Hornady .338 Lapua, 250 grain BTHP #8230	120	8	\$0.00	\$0.00	\$420.00	\$3,360.00	\$790.00	\$6,320.00	\$0.00	\$0.00	120 Rounds / Case
35	Hornady .338 Lapua, 285 grain, ELD Match #82300	120	8	\$0.00	\$0.00	\$420.00	\$3,360.00	\$524.14	\$4,193.12	\$0.00	\$0.00	120 Rounds / Case ELD not BTHP & Product # Change
36	Hornady 50 BMG, 750 grain AMAX #8270	100	20	\$0.00	\$0.00	\$470.00	\$9,400.00	\$540.00	\$10,800.00	\$0.00	\$0.00	
37	Hornady .308 ELD #80905	200	50	\$0.00	\$0.00	\$195.00	\$9,750.00	\$0.00	\$0.00	\$0.00	\$0.00	
38	Hornady .308 GMX #80985	200	50	\$0.00	\$0.00	\$295.00	\$14,750.00	\$0.00	\$0.00	\$0.00	\$0.00	
39	Hornady .308 Interbond - DISCONTINUED #80995	0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
40	Hornady .308 ELD #80725	200	50	\$0.00	\$0.00	\$195.00	\$9,750.00	\$226.00	\$11,300.00	\$0.00	\$0.00	
41	Hornady .223 GMX #83295	200	60	\$0.00	\$0.00	\$165.00	\$9,900.00	\$226.00	\$13,560.00	\$0.00	\$0.00	
42	Hornady .223 TAP #83286	200	60	\$0.00	\$0.00	\$125.00	\$7,500.00	\$0.00	\$0.00	\$0.00	\$0.00	
43	Hornady .223 GMX #80295	200	60			\$165.00	\$9,900.00	\$0.00	\$0.00			
44	Hornady9MM, 124 grain +P Critical Duty #90215	500	40	\$0.00	\$0.00	\$195.00	\$7,800.00	\$155.00	\$6,200.00	\$0.00	\$0.00	Alternate bid item +P Critical Duty #90215 (not 8452)
	Subtotal				\$0.00		\$102,720.00		\$75,223.12		\$0.00	
	Less 5% LVP			0%	\$0.00	0%	\$0.00	0%	\$0.00	0%	\$0.00	1
	Less Terms Discount			0%	\$0.00	0%	\$0.00	1%	(\$752.23)	0%	\$0.00	
	Evaluation				\$0.00		\$102,720.00		\$74,470.89		\$0.00	]
Terms Delivery ARO				NO BID		Net 30 Days 30 Days ARO (Alternate Brand #35 & #44)		DID NOT BID 100% OF CATEGORY 1%, 25 Days 30 Days ARO		NO BID		

Cate	Category 4: CCI Ammunition				ego Police nent Co. ego, CA	, ,	Corporation alley, CA	Sec. 10.	Armor LLC In, NE	(C) Dooley Enterprises , Inc. Anaheim, CA	
	Description	Rounds per Case	Est. Annual # of Cases	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
45	CCI Velocitor .22 cal Long rifle, 40 grain Copper Plated Hollow Point (CPHP) #0047	5,000	2	\$345.87	\$691.74	\$0.00	0.00	\$799.00	1,598.00	\$0.00	0.00
	Subtotal				\$691.74		0.00		1,598.00		0.00
	Less 5% LVP			0%	\$0.00	0%	0.00	0%	0.00	0%	0.00
	Less Terms Discount			0%	\$0.00	0%	0.00	1%	0.00	0%	0.00
	Evaluation				\$691.74		\$ -		\$ 1,598.00		\$ -
	Terms Delivery ARO				0 Days ays ARO	NO BID		1%, 25 Days 30 Days ARO		NO BID	